

Find the exact roots of each equation for $0 \leq x < 2\pi$:

1) $2 \cos x + 1 = \sec x$

$$\cos x (2 \cos x + 1) = \frac{1}{\cos x}$$

$$2 \cos^2 x + \cos x - 1 = 0$$

$$(2 \cos x - 1)(\cos x + 1) = 0$$

$$\cos x = \frac{1}{2} \quad \cos x = -1$$

$$x = \pi/3, 5\pi/3 \quad x = \pi$$

2) $\sin x + \sqrt{3} \cos x = 0$

$$\sin x = -\sqrt{3} \cos x$$

$$\frac{\sin x}{\cos x} = -\sqrt{3}$$

$$\tan x = -\sqrt{3}$$

$$x = 2\pi/3, 5\pi/3$$

3) $2 \cos^2 x = 3 \sin x$

$$2(1 - \sin^2 x) = 3 \sin x$$

$$2 - 2 \sin^2 x = 3 \sin x$$

$$0 = 2 \sin^2 x + 3 \sin x - 2$$

$$0 = (2 \sin x - 1)(\sin x + 2)$$

$$\sin x = \frac{1}{2}$$

$$\sin x = -2 \text{ reject}$$

$$x = \pi/6, 5\pi/6$$

Find the exact general radian solutions of each equation:

4) $\cos 2x = 1 - 2 \sin x$

$$1 - 2 \sin^2 x = 1 - 2 \sin x$$

$$0 = 2 \sin^2 x - 2 \sin x$$

$$0 = 2 \sin x (\sin x - 1)$$

$$\sin x = 0 \quad \sin x = 1$$

$$x = \pi n$$

$$x = \pi/2 + 2\pi n \quad ; n \in \mathbb{I}$$

5) $\sqrt{2} \sin 2x - 2 \sin x = 0$

$$2\sqrt{2} \sin x \cos x - 2 \sin x = 0$$

$$2 \sin x (\sqrt{2} \cos x - 1) = 0$$

$$\sin x = 0 \quad \cos x = 1/\sqrt{2}$$

$$x = \pi n$$

$$x = \pi/4 + 2\pi n \quad ; n \in \mathbb{I}$$

$$x = 7\pi/4 + 2\pi n$$

$$6) 3 \sin^2 x - 3 \cos^2 x + 1 = \sin^2 2x$$

$$3(\sin^2 x - \cos^2 x) + 1 = (\sin 2x)^2$$

$$3(2 \sin^2 x - 1) + 1 = (2 \sin x \cos x)^2$$

$$6 \sin^2 x - 3 + 1 = 4 \sin^2 x \cos^2 x$$

$$\bullet \underline{6 \sin^2 x - 2} = 4 \sin^2 x (1 - \sin^2 x)$$

$$6 \sin^2 x - 2 = 4 \sin^2 x - 4 \sin^4 x$$

$$4 \sin^4 x + 2 \sin^2 x - 2 = 0$$

$$2 \sin^4 x + \sin^2 x - 1 = 0$$

$$(2 \sin^2 x - 1)(\sin^2 x + 1) = 0$$

$$\sin^2 x = 1/2 \quad \sin^2 x = -1$$

$$\sin x = \pm 1/\sqrt{2}$$

$$\boxed{x = \pi/4 + \pi n, n \in \mathbb{I}}$$

OR

$$3(1 - \cos^2 x) - 3 \cos^2 x + 1 = \underline{\hspace{2cm}}$$

$$3 - 3 \cos^2 x - 3 \cos^2 x + 1 = \underline{\hspace{2cm}}$$

$$\bullet \underline{4 - 6 \cos^2 x} = \underline{\hspace{2cm}}$$

OR

$$3 \sin^2 x - 3(1 - \sin^2 x) + 1 = \underline{\hspace{2cm}}$$

$$3 \sin^2 x - 3 + 3 \sin^2 x + 1 = \underline{\hspace{2cm}}$$

$$\bullet \underline{6 \sin^2 x - 2} = \underline{\hspace{2cm}}$$

OP

$$3(1 - 2 \cos^2 x) + 1 = 4 \sin^2 x \cos^2 x$$

$$3 - 6 \cos^2 x + 1 = 4(1 - \cos^2 x) \cos^2 x$$

$$\bullet \underline{4 - 6 \cos^2 x} = 4 \cos^2 x - 4 \cos^4 x$$

$$4 \cos^4 x - 10 \cos^2 x + 4 = 0$$

$$2 \cos^4 x - 5 \cos^2 x + 2 = 0$$

$$(2 \cos^2 x - 1)(\cos^2 x - 2) = 0$$

$$\cos^2 x = 1/2 \quad \cos^2 x = 2$$

$$\cos x = \pm 1/\sqrt{2} \quad \cos x = \pm \sqrt{2}$$

$$\boxed{x = \pi/4 + \pi n, n \in \mathbb{I}}$$